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Below is a sample of sons set for showing the variable and invariable values in creating the sons set  in a human package 
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And below is a sample of a term in jinni`s equation 

Base numbers in numerator {invariable} 

                               

 

                                        Coefficients between the first and the last coefficients {variable}                       

 

      

 
            

                 First coefficient (invariable)     Last coefficient as identity of equation (invariable) 
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2

 2 2 2 16

 0



4890 8110 2816 207 4 4192 444 16 333 12 8 6656 756 32 1008 48 64 567 24 36 16 30239

Human = 30239 Jinni = 3866

30239 3866 34105

...............................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................

    n = 11



Stirling numbers of the second kind triangular set of equation packages array 

Based on family tree of the Jinni and Human algorithm      Serajian Asl 

 

 

 

 k              k = 10  
             k = 0               k = 1               k = 2               k = 3               k = 4               k = 5               k = 6               k = 7               k = 8               k = 9 

 n 

...........................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................
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.........................................................................................................

    n = 0

For Jinni section = 0Stirling2

n 0

k 0

















        1

0
0









0 0

Jinni = 0 Human = 1

1 1

...............................................................................................................................................................................................................

    n = 1

For Jinni section = 0 For Jinni section = 0 Stirling2

n 1

k 0

















        0

Stirling2

n 1

k 1

















             1       

0 1
0

 

 

 

 

0 0 0 0

Jinni = 0 Human = 0 Jinni = 0 Human = 1

0 0 1 1

.....................................................................................................................................................................................................................................................................................................................

    n = 2

For Jinni section = 0 For Jinni section = 0 For Jinni section = 0Stirling2

n 2

k 0

















        0

Stirling2

n 2

k 1

















             1       

Stirling2

n 2

k 2

















      1

0 1
1

2
0

  

  

  

  

0 0 0 0 0 0

Jinni = 0 Human = 0 Jinni = 0 Human = 1 Jinni = 0 Human = 1

0 0 1 1 1 1

........................................................................................................................................................................................................................................................................................................................................................................................................................

    n = 3

For Jinni section = 0 For Jinni section = 0 For Jinni section = 0 For Jinni section = 0Stirling2

n 3

k 0

















        0

Stirling2

n 3

k 1

















             1       

Stirling2

n 3

k 2

















      3

Stirling2

n 3

k 3

















        1

0 1
2

1
1

2
1

 3
0

   

   

   

   

0 0 0 0 0 0 0 0

Jinni = 0 Human = 0 Jinni = 0 Human = 1 Jinni = 0 Human = 3 Jinni = 0 Human = 1

0 0 1 1 3 3 1 1

.................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................

    n = 4

For Jinni section = 0 For Jinni section = 0 For Jinni section = 2 For Jinni section = 0 For Jinni section = 0 Stirling2

n 4

k 0

















        0

Stirling2

n 4

k 1

















             1       

Stirling2

n 4

k 2

















    7

Stirling2

n 4

k 3

















        6

Stirling2

n 4

k 4

















                 1

0 1
3

1
2

2
2

 1
1

2
1

 3
1

 4
0

    

    

   

   1
2

1

2









2 2
0 0 0 0 0 0 0 0

Jinni = 0 Human = 1
Jinni = 0 Human = 0 

1 1 Jinni = 0 Human = 6 Jinni = 0 Human = 1
0 0

 6 6 1 1

2 2

Jinni = 2 Human = 5

7 7

...............................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................

    n = 5

For Jinni section = 0 For Jinni section = 0 For Jinni section = 0 For Jinni section = 11 For Jinni section = 0 For Jinni section = 0Stirling2

n 5

k 0

















        0

Stirling2

n 5

k 1

















             1       

Stirling2

n 5

k 2

















    15

Stirling2

n 5

k 3

















      25

Stirling2

n 5

k 4

















             10

Stirling2

n 5

k 5

















                        1

0 1
4

1
3

2
3

 1
2

2
2

 3
2

 1
1

2
1

 3
1

 4
1

 5
0

     

     

   

   1
2

1

2









2 3
1
2

1

2









2
2

2
2

2









3 11
0 0 0 0 0 0 0 0

  Jinni = 0 Human = 10 Jinni = 0 Human = 1
Jinni = 0 Human = 0 Jinni = 0 Human = 1

10 10 1 1
0 0 1 1  

0 0 11 11

Jinni = 0 Human = 15 Jinni = 11 Human = 14

15 15 25 25
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    n = 6

For Jinni section = 0 For Jinni section = 0 For Jinni section = 0 For Jinni section = 6 For Jinni section = 35 For Jinni section = 0 For Jinni section = 0 Stirling2

n 6

k 0

















        0

Stirling2

n 6

k 1

















             1       

Stirling2

n 6

k 2

















    31

Stirling2

n 6

k 3

















      90

Stirling2

n 6

k 4

















             65

Stirling2

n 6

k 5

















                        15

Stirling2

n 6

k 6

















                         1

0 1
5

1
4

2
4

 1
3

2
3

 3
3

 1
2

2
2

 3
2

 4
2

 1
1

2
1

 3
1

 4
1

 5
1

 6
0

      

      

    

    1
2

1

2









2 3 6
1

2
1

2









2
2

2
2

2









3
3
2

3

2









4 35
0 0 0 0 0 0 0 0 0 0

Jinni = 0 Human = 0 Jinni = 0 Human = 1 Jinni = 0 Human = 31   Jinni = 0 Human = 15 Jinni = 0 Human = 1

0 0 1 1 31 31 15 15 1 1
 

6 6 35 35

Jinni = 6 Human = 84 Jinni = 35 Human = 30

90 90 65 65
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    n = 7

For Jinni section = 0 For Jinni section = 0 For Jinni section = 0 For Jinni section = 18 For Jinni section = 50 For Jinni section = 85 For Jinni section = 0 For Jinni section = 0Stirling2

n 7

k 0

















        0

Stirling2

n 7

k 1

















             1       

Stirling2

n 7

k 2

















    63

Stirling2

n 7

k 3

















      301

Stirling2

n 7

k 4

















             350

Stirling2

n 7

k 5

















                        140

Stirling2

n 7

k 6

















                       21

Stirling2

n 7

k 7

















                        1

0 1
6

1
5

2
5

 1
4

2
4

 3
4

 1
3

2
3

 3
3

 4
3

 1
2

2
2

 3
2

 4
2

 5
2

 1
1

2
1

 3
1

 4
1

 5
1

 6
1

 7
0

       

       

    

    1
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0 0 0 0 0 0 0 0 0 0

Jinni = 0 Human = 0 Jinni = 0 Human = 1 Jinni = 0 Human = 63   Jinni = 0 Human = 21 Jinni = 0 Human = 11
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







2 3 6
0 0 1 1 63 63 21 21 1 1

 

18 18 85 85


Jinni = 18 Human = 283  Jinni = 85 Human = 55
44 6 50

301 301 140 140

Jinni = 50 Human = 300
350 350
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    n = 8

For Jinni section = 0 For Jinni section = 0 For Jinni section = 0 For Jinni section = 54 For Jinni section = 218 For Jinni section = 225 For Jinni section = 175 For Jinni section = 0 For Jinni section = 0Stirling2
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4 6
4

2
4

2









5 6 510
Jinni = 486 Human = 8844 1

2
1

2









2 3 3 4 4 288 Jinni = 546 Human = 204
9330 9330 

750 7501
2

1

2









2 3 6 36


1
2

1

2









2 5
2

2
2

2









3 5
3
2

3

2









4 5 175
1

2
1

2









2 4 5 5
2

2
2

2









3 4 5 5 1100


1
2

1

2









2 3 4 4 4 384 1
2

1

2









2 4
2

2
2

2









3 4 44
1

2
1

2









2 3 4 5 120
1

2
1

2









2 5 5
2

2
2

2









3 5 5
3
2

3

2









4 5 5 875



1
2

1

2









2 3 6
1

2
1

2









2 4 5
2

2
2

2









3 4 5 2201
2

1

2









2 3 3 3 3 162
1

2
1

2









2 3 5 5 150 


1

2
1

2









2 3 5 30 


1225 510 175 44 6 1960



2816 216 288 384 162 3866

1
2

1

2









2 4 4 4
2

2
2

2









3 4 4 4 704 Jinni = 1960 Human = 3920

Jinni = 3866 Human = 30239
1

2
1

2









2 4 4
2

2
2

2









3 4 4 176 5880 5880

34105 34105
1

2
1

2









2 3 3 4 72
1

2
1

2









2 3 4 24

0 

0 

1
2

1

2









2 3 4 4 96
1

2
1

2









2 3 3 18




1

2
1

2









2 3 3 3 54


3060 1050 264 36 875 220 30 176 24 18 5753



 Jinni = 5753 Human = 17074

4375 880 90 1100 120 150 704 72 96 54 7641 22827 22827

Jinni = 7641 Human = 34884

42525 42525

...............................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................

    n = 11



Set of the above made squared arrays makes a three – dimensional "3D numerical array"  

In the name numerical cube array  

"Figure 16" 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Numerical cube        set of the squared arrays make three dimensional numerical cube array                

n \ k  1  2  3  4  5  6  7  8 

1  1  8  27  64  125  216  343  512 

2  15  65  175  369  671  1105  1695  2465 

3  90  285  660  1275  2190  3465  5160  7335 

4  350  910  1890  3410  5590  8550  12410  17290 

5  1050  2380  4550  7770  12250  18200  25830  35350 

6  2646  5418  9702  15834  24150  34986  48678  65562 

7  5880  11130  18900  29694  44016  62370  85260  113190 

8  11880  21120  34320  52200  75480  104880  141120  184920 

9                 

 

n \ k  1  2  3  4  5  6  7  8 

1  1  4  9  16  25  36  49  64 

2  7  19  37  61  91  127  169  217 

3  25  55  97  151  217  295  385  487 

4  65  125  205  305  425  565  725  905 

5  140  245  380  545  740  965  1220  1505 

6  266  434  644  896  1190  1526  1904  2324 

  462  714  1022  1386  1806  2282  2814  3402 

8  750  1110  1542  2046  2622  3270  3990  4782 

9                 

 

n \ k  1  2  3  4  5  6  7  8 

1  1  2  3  4  5  6  7  8 

2  3  5  7  9  11  13  15  17 

3  6  9  12  15  18  21  24  27 

4  10  14  18  22  26  30  34  38 

5  15  20  25  30  35  40  45  50 

6  21  27  33  39  45  51  57  63 

7  28  35  42  49  56  63  70  77 

8  36  44  52  60  68  76  84  92 

9                 

 

n \ k  1  2  3  4  5  6  7  8 

1  1  1  1     1  1  1  1  1 

2  1  1  1  1  1  1  1  1 

3  1  1  1  1  1  1  1  1 

4  1  1  1  1  1  1  1  1 

5  1  1  1  1  1  1  1  1 

6  1  1  1  1  1  1  1  1 

7  1  1  1  1  1  1  1  1 

8  1  1  1  1  1  1  1  1 

9                 

 

n \ k  1  2  3  4  5  6  7  8 

1  1  1  1     1  1  1  1  1 

2  1  1  1  1  1  1  1  1 

3  1  1  1  1  1  1  1  1 

4  1  1  1  1  1  1  1  1 

5  1  1  1  1  1  1  1  1 

6  1  1  1  1  1  1  1  1 

7  1  1  1  1  1  1  1  1 

8  1  1  1  1  1  1  1  1 

9                 

  

By adding {3} to each one of base numbers, the 4th term of sequence will be obtain {42525 ,156660 ,447195 ,1071630 , ..} 

 

n row k column A
c

number of square array in Cube array n row k column A
c

number of square array in Cube array
Stirling2

Cube Array

A
c

8

n 5

k 1

















                          42525

Stirling2

Cube Array

A
c

8

n 5

k 5

















                     1071630

m A
c

3 2 3 4 5 6 7 8 m A
c

3 2 3 4 5 6 7 8

 

 

1
5

2
5

 3
5

 4
5

 5
5

 4425 4
5

5
5

 6
5

 7
5

 8
5

 61500

 

 

2 3 4 5( ) 1
4

 1 3 4 5( ) 2
4

 1 2 4 5( ) 3
4

 1 2 3 5( ) 4
4

 1 2 3 4( ) 5
4

 10260 5 6 7 8( ) 4
4

 4 6 7 8( ) 5
4

 4 5 7 8( ) 6
4

 4 5 6 8( ) 7
4

 4 5 6 7( ) 8
4

 198720

 

 

2 3 4 5( ) 1
3

 5 1 3 4 5( ) 2
3

 5 1 2 4 5( ) 3
3

 5 1 2 3 5( ) 4
3

 5 5730 5 6 7 8( ) 4
3

 8 4 6 7 8( ) 5
3

 8 4 5 7 8( ) 6
3

 8 4 5 6 8( ) 7
3

 8 142896

 

2 3 4( ) 1
3

 4 1 3 4( ) 2
3

 4 1 2 4( ) 3
3

 4 1048 5 6 7( ) 4
3

 7 4 6 7( ) 5
3

 7 4 5 7( ) 6
3

 7 47131

 

2 3( ) 1
3

 3 1 3( ) 2
3

 3 111 5 6( ) 4
3

 6 4 6( ) 5
3

 6 11724

 

2( ) 1
3

 2 4 5( ) 4
3

 5 1600

 

 

2 3 4 5( ) 1
2

 5 5 1 3 4 5( ) 2
2

 5 5 1 2 4 5( ) 3
2

 5 5 1 2 3 5( ) 4
2

 5 5 8750 5 6 7 8( ) 4
2

 8 8 4 6 7 8( ) 5
2

 8 8 4 5 7 8( ) 6
2

 8 8 4 5 6 8( ) 7
2

 8 8 194048

2 3 4( ) 1
2

 4 5 1 3 4( ) 2
2

 4 5 1 2 4( ) 3
2

 4 5 2080 5 6 7( ) 4
2

 7 8 4 6 7( ) 5
2

 7 8 4 5 7( ) 6
2

 7 8 72184

2 3( ) 1
2

 3 5 1 3( ) 2
2

 3 5 315 5 6( ) 4
2

 6 8 4 6( ) 5
2

 6 8 20448

2( ) 1
2

 2 5 20 5( ) 4
2

 5 8 3200

 

2 3 4( ) 1
2

 4 4 1 3 4( ) 2
2

 4 4 1 2 4( ) 3
2

 4 4 1664 5 6 7( ) 4
2

 7 7 4 6 7( ) 5
2

 7 7 4 5 7( ) 6
2

 7 7 63161

2 3( ) 1
2

 3 4 1 3( ) 2
2

 3 4 252 5 6( ) 4
2

 6 7 4 6( ) 5
2

 6 7 17892

2( ) 1
2

 2 4 16 5( ) 4
2

 5 7 2800

 

2 3( ) 1
2

 3 3 1 3( ) 2
2

 3 3 189 5 6( ) 4
2

 6 6 4 6( ) 5
2

 6 6 15336

2( ) 1
2

 2 3 12 5( ) 4
2

 5 6 2400

 

2( ) 1
2

 2 2 8 5( ) 4
2

 5 5 2000

 

   

 

1( ) 2 5 5 5 1 2( ) 3 5 5 5 1 2 3( ) 4 5 5 5 4375 4( ) 5 8 8 8 4 5( ) 6 8 8 8 4 5 6( ) 7 8 8 8 91648

1( ) 2 4 4 5 1 2( ) 3 4 4 5 880 4( ) 5 7 7 8 4 5( ) 6 7 7 8 29008

1( ) 2 3 3 5 90 4( ) 5 6 6 8 5760

 

1( ) 2 4 5 5 1 2( ) 3 4 5 5 1100 4( ) 5 7 8 8 4 5( ) 6 7 8 8 33152

1( ) 2 3 4 5 120 4( ) 5 6 7 8 6720

 

1( ) 2 3 5 5 150 4( ) 5 6 8 8 7680

 

1( ) 2 4 4 4 1 2( ) 3 4 4 4 704 4( ) 5 7 7 7 4 5( ) 6 7 7 7 25382

1( ) 2 3 3 4 72 4( ) 5 6 6 7 5040

 

1( ) 2 3 4 4 96 4( ) 5 6 7 7 5880

 

1( ) 2 3 3 3 54 4( ) 5 6 6 6 4320

 

 

4425 10260 5730 1048 111 4 8750 2080 315 20 1664 252 34659 2800 15336 2400 2000 91648 29008 5760 33152 6720 7680 25382 5040 5880 4320 237126

16 189 12 8 4375 880 90 1100 120 150 704 72 96 54 7866 61500 198720 142896 47131 11724 1600 194048 72184 20448 3200 63161 17892 834504

34659 7866 42525 834504 237126 1071630


